Name :

a = H
nigaunaldinia ﬂ?:ﬂjﬂ’]ﬂﬂ’ﬁﬁﬂiﬁnﬂ 1

a =~ a
Tugnin 3 Famawn w.A. 2550

91 215-324 : nasEATIATIINING

A IAINIINAIEAS

AV INYIFT VAT HATINT

Student ID #

Uszdrin1s@nwn 2550
111 13.30-16.30 w.

Yiaaway ME110

o o, . ar a 4 A o P
yadalunisaey diududdadiuanlussinfingda wssinmsi3ou 1 mamséinm

1. Jasauilnivue 5 48 Wihassludagaunnde

3o donuuyle

Ll

aynaliliesasdaia e

aypabihnaza e Ad wan 1 wdwmdniasseuld udldaugnaenastu g

5
A3 I IgNTNTNT

Hoandagau

) SUBBLAN @
1 20
2 20
3 20
4 20
5 20
Eit; 100

Page 1 of 7




Name : Student ID # :

1) (a) The contact between the cylinder and the ground is a rolling contact.
What is the degree of freedom of this joint ? (2 points) Q

SIS,

(b) What is the degree of freedom of this pin-in-slot joint. (2 points) :

{c) Determine the mobility of this mechanism. (3 points)

{d) Determine what type of contact (rolling or sliding) the joint
between links 2 and 3 must be, in order that the mobility of this

mechanism is 1. (3 points)
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(e) How many poles does this mechanism have 7 Also locate the poles (instantaneous centers of

velocity) P,;, P, P, and P, of this mechanism in the figure. (10 points)
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2) The mechanism is shown in the figure.

;1
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{2} Draw the mechanism when the
slider 6 is at its limit positions and
determine the stroke of the slider 6.
{16 points)

{b) If link 2 is rotating with a constant
speed, which direction must w, be so
that it is a quick-retum ? (2 points)
(c) Determine the time ratio between
advance stroke and return stroke. (2

points)
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3) The slider crank mechanism is as shown in the figure, with R,z = 30 mm, R, = 50 mm. Link 4 is
moving downward with a constant speed of 50 mm/s. Determine the angular velocities of links 2 and 3,
and velocity and acceleration of point B. (20 points)
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4) If link 2 of the mechanism shown is rotating counterclockwise at a constant speed of 2 rad/s. Determine

the velocity of point B, and the angular velocity of link 3. {20 points)
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5) A four-bar linkage is as shown in the position. If link 2 is rotating counterclockwise at a constant speed
of 1 rad/s. Determine the angular velocities of link 3 and link 4. Also use graphical method to determine

the acceleration of points A3 and A4, and angular acceleration of link 4. (20 points)
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5) A four-bar linkage is as shown in the position. If link 2 is rotating counterclockwise at a constant speed
of 1 rad/s. Determine the angular velocities of link 3 and link 4. Also use graphical method to determine

the acceleration of points A3 and A4, and angular acceleration of link 4. (20 points)
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